Circle the most appropriate answer:

1

J/18 simplifies to:

A 32 B 23

C 92 D It can’t be simplified since 18 is not a perfect
square.
V5 xA10 is equal to:
V15 B 52 ¢ 2J5 D 25

Which one of the following values of x is rnof a surd?

A B x=444

1
C  x=4./10000 D x=%%

(24/5)* is equal to:

A 445 B 10 C 20 D 50
The simplest expression for V32 +4/8 is:

A 40 B 2410

C 62 D  The expression cannot be simplified.

Which one of the following statements is false? For all positive 2 and b:

A Na*h' =ab B Na*+b =a+b
3
\f Na D N —at

5
The value of — is:

Js
A 45 B 1
C 245 D 545
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The simplest expression for

2432
4

A 1 B ——

V32
c 2

2

The simplest expression for («./g + \5)2 is:
A 3 B 7
C  7+420 D 7+24/10
(5 +3)5 ~/3) is equal to:
A 2415 B 2-2415
cC 4 D 2

(V6 +8)(W2 +/6), in its simplest form, is:

A 10+3412 B 104643
C 63 D 447
Ja*b® in its simplest form is:
a*h’ 6.8
A ab
2
C ab*Ja D a'b?
(1- «/§)2 is equal to:
A 1-+6 B 10-243
c 2 D 4-243
If V3x =9, then x equals;
A 3 B 3
C 33 D 9-43
The sirnplest expression for —1— is:
Ip p Jg '
V2 V3
- B i
4 8
7 D 242

D The expression cannot be simplified.
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If x(ﬁ - ﬁ) =1, then x must be equal to:

1
A 1 B =
J6
C 3-42 D 3+42
I x =243 , then (x + 1)(x - 1) equals:
A 35 B 5
c 11 D 11-443

The simplest expression for +/x ++/x° is:
A x(x+1) B 2Jx
2

C x D The expression cannot be simplified.

As an entire surd, 31‘\/)7 is equal to:
A Y3y B 9%y
C o'y D X'y

The only perfect cube in this list is:
A X B x

Wi
w)
%]

v

C x

The simplest expression for 327x" is:
R B 33¥x*

C  3xix D  The expression cannot be simplified.

The simplest expression for (a + D(a —1) is:
A a-l B a-1
C a—1-— 2«/(_1 D a

Given that +2 ~ 1414, +/32 is approximately:

A 5656 B 11.312
C 17.414 D 22624

2
When expressed with a rational denominator, —=—= is equal to:
V8 446

A 8-+6 B 8+4/6
C 2(/8-6) D V48

24
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J2a'be? x Af2b is equal to:

A a'bed2 B a+f2bc

C 2d"be D 24°¢

80 + 2445 — V11 + 3444 simplifies to:

A 106-A11 B 344/5+1111
C 1045 +5411 D 60

avb2ab +34a) simplifies to:

A 2a'b+3avab B 2a°b+3Ja
C  2a*b+3aab D 5a’bab
If @ =+/3 and b = /2, then the simplest expression for the value of & b is:
a —_—
A 45 B 13+2J6
C  s5+2J6 D 5-246
The simplest value for M is:
V10
A 4+4f30 B 2++/30
C N7 D  2+43
The basic numeral for ————— xVx x+/125 is:
SxA
A 2430 B 5
cC 25 D  Unable to be determined without knowing the
value of x.



ANSWERS TO WORKSHEET ON SURDS




